Accessories for F-150 Constable Pct 2

(3) side and rear lights-	\$149.00 each	Total: \$447.00
(1) interior visor lights	\$299.00	
(1) radio	\$657.34	
(1) siren w/speaker	\$407.94	
(1) prisoner partition	\$1,539.72	
(1) center console	\$2,154.64	
(1) rear seat cover	\$335.50	
(1) tool box	\$585.00	
PPE Labor	\$1,000.00	
McCollum Electronics Labor	\$300.00	

TOTAL: \$7,726.14

No prisoner partition can be installed in this particular pickup without changing out the console. All items listed are needed for the safety of the officers and the subjects being transported. It will also be used at times for other law enforcement tasks.

Priority Public Safety LLC

659 Martin Duke Road Van Alstyne, TX 75495 +1 9034829357 dkirby@priorityps.net



Estimate

ADDRESS

Titus County Sheriff

ESTIMATE # 8270

DATE 12/01/2023

EXPIRATION DATE 12/31/2023

REP

Bryce Blumberg

DATE ACTIVITY	QTY	RATE	AMOUNT
Message F-150 Quote- Constable **Per 1 Vehicle**	1	0.00	0.00
WE-ARGES1 Whelen New! 5 Spotlight with Proclera Silicone Optic	1	449.40	449.40
WE-ARGCH1 Whelen New! Control Head for Arges, Bail Bracket	1	200.40	200.40
WE-ARG47CD Whelen Arges Mount for 2021+ F150 - Driver side mount	1	65.40	65.40
WE-I3JC Whelen ION Red/Blue/White with White Override Universal Mount LED 4 Mounted on Grille	, 4	138.60	554.40
WE-BSFW478 WE-BSFW478 Ford F-150/F-250/F-350, 2017-2020, Eight Lamps, SOLO or DUO, Upper Front Two Piece Unit, Individual Driver and Passenger Side Units, with Two LED Flashing/Take-Downs (Ten Lights Total)	1	3,000.00	3,000.00
WE-C399 Whelen Cencom Core WeCan X Control Module	1	0.00	0.00
WE-CCTL7 Whelen New! Includes 3 Section Control Head and 21 Push-Buttons, 4-Position Slide Switch, Microphone with Extension Cable	1	0.00	0.00
WE-C399K7 Whelen NEW 2021 Ford F150 Installation Kit for C399	1	0.00	0.00
WE-SA315P Whelen 100 Watt Speaker	1	0.00	0.00

Unused item refund or exchange within 14 days. Receipt and original packaging required. EXCEPT special order items, these cannot be returned. | Like us on Facebook! | Used items no returns.

1.				
DATE	ACTIVITY	QTY	RATE	AMOUNT
	WE-SAK1 Whelen Universal L Speaker bracket	1	0.00	0.00
	WE-TLI2J Whelen DUO Thin ION Red/Blue Mounted Below in Tailgate	4	113.40	453.60
	WE-TCRWX5 WE-TCRWX5	2	680.50	1,361.00
	5 Lamp Housing and TCRL* SOLO Lightheads. "L" Bracket Mounting (6 Required)			
	WE-TCRWXPJC WE-TCRWXPJC Primary TRIO Lighthead Includes Lamp driver, One Required in Position 1, for each TRIO Tracer, Red/Blue/White	2	65.40	130.80
	WE-TCRWXSJC TCRWXSJC New! Secondary TRIO Lighthead, Red/Blue/White. For use in Positions 2-6	8	65.40	523.20
	WE-TCRB47 Whelen Tracer Running Board LED Brackets for Ford F-150	12	61.80	741.60
	FORD PARTS ML3Z-15042C74-DA BRACKET	1	345.00	345.00
	FORD PARTS ML3Z-1504567-AD- CONSOLE PANEL	1	107.37	107.37
	FORD PARTS ML3Z-1504608-AC CONSOLE PANEL	1	104.75	104.75
	FORD PARTS ML3Z-1504608-AB INSTRUMENT PANEL	1	198.42	198.42
	FORD PARTS W711390-S450B-BOLT AND WASHER	1	15.30	15.30
	Shipping and Handling Shipping and Handling For Ford Parts	1	50.00	50.00
*	GJ-7170-0882-04 Gamber Johnson 2021+ Ford F-150 Wide Body Console Box Kit with Magnetic Phone Holder, Cup Holder, Rear Armrest, and Mongoose XLE 9" Motion Attachment	1	1,333.80	1,333.80
	PG-P1000FT21A Single Compartment, Pro-Cell, Partition (OEM Rear Seat Only)	1	1,539.72	1,539.72
	EARL OWEN SL60 Series - Leatherlite Simulated Leather Custom Fit Rear Seat Cover- Black FIA - FIASL62-80BLK/BLK	1	335.50	335.50
:	EARL OWEN Saddle Box; Aluminum; Full Standard; Gloss Black; 10.5 cu ft; Weatherguard - WEA127-5-03 Saddle Box Tamper-Resistant Lock Helps Protect	1	1,164.54	1,164.54

Unused item refund or exchange within 14 days. Receipt and original packaging required. EXCEPT special order items, these cannot be returned. | Like us on Facebook! | Used items no returns.

DATE	ACTIVITY		QTY	RATE	AMOUNT
	Against Break-Ins 90 Degree Cover Opening For Easy Access Automotive Style Rotary Latch Features Smooth One Touch Opening Full Weather Seal Protects Against The Elements 12 Volt Access For Electrical Up-Fits Level Storage Area Secures 36 in. Level Includes Powder Coated Steel Divider Tray Clear Coat Finish Ensures Years Of Dependability				
	WE-I3JC Whelen ION Red/Blue/White with White Override Universal Mount LED Mounted on Rear of Truck		4	138.60	554.40
	Shipping and Handling Shipping and Handling		1	210.00	210.00
	SHOP SUPPLIES Shop supplies, misc. connectors, tape, lume, nuts, bolts		1	125.00	125.00
	WIRE-HAR Custom Wiring Harness made to order		1	150.00	150.00
	WE-PROGRAM1 Program Fee		1	175.00	175.00
	Labor Labor to Install All Above Equipment		1	2,150.00	2,150.00
Thank you for do	oing business with us.	SUBTOTAL TAX			16,038.60

Accepted By

Accepted Date

\$16,038.60

TOTAL

McCOLLUM ELECTRONICS, INC.

1010 West First Street Mt. Pleasant, Texas 75455



QUOTE

22580

Phone	(903)	572-8641
Fax		572-8673

Titus County

ORDER NO.	
Ta	
f-Ce	
	The

SALESPERSON	DATE SHIPPED SHIPPED VIA F.G.B. POINT	TERMS		40. Tables
QUANTITY /	Motoda CM3002 UHF 45 wets, 99 channel	UNIT PRICE	577	00
	hode Serial			
1			80.	34
1	Antenno, cable, connecto, brachet Siran speaken		144.	
(SK 195 Shen Labor to existely		262.	
	Labor to enstall		180.	
		楚	1245.	98
			in the second se	
	·			

THANK YOU

ALAN BRADDOCK'S AUTO TRIM & 903-572-8632 1227 N JEFFERSON AVE

Estimate

Date	Estimate #
12/7/2023	283

Name	/ Add	ress

TITUS COUNTY CONSTABLE 100 SOUTH MADISON SUITE 101 MT. PLEASANT, TEXAS 75455 903-577-6762

			Project
Description	Qty	Rate	Total
UWS TOOL BOX LOW PROFILE BLACK		585.00	585.00
2023 FORD F150 CREW			
CONTACT: RAY BARRETT			
	-		
•			
		Subtotal	\$585.00
7	334 W 1/11 W.	Sales Tax (8.25%)	\$0.00
		Total	\$585.00





